t}-& 1894 AC = BC = AD, BD = 20]t}.
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3.

(ECI = /BCI, /DBI = /CBI , BC//DE °©]1, AADE 9] & 2]
Z0o]|7} 27cm, AD = 10cm , AE = 8cm € @, BD+CE = ( )cm
ojth. ()}t g E A ol

A 17 A4z o] iAol DE//BC ¢ W, AADE 9] Ed7}
27cm °| B2
DB + CE = DE = 27 - (10 + 8) = 9(cm) °|t}.




TS oA AABC = AB = AC , /A = A
54° ¢l o] 5w Az ot A B, C oA o A
Holl 7l £410] g Z+2F M, N o]2t & o,

x4+ 2y Q) A7E? NG )

GD)SlO @ 82° ® 86° @ 88° ® 90°

S5 ~
ABNC = ACMB (RHA 3H5)
ABMC ©f| A /MCB = 63°,y = 27°
(MCN = 63° - 27° = 36°
s x=180°—(36°+90°) = 54°
SIx+ Ly =54°427°=81°




5.

e 2804 A 1= AABC o] WAlo] 1, /BIC = 140° < ], /x ©]

2717

A

T

140°

@ 70° @ 80° ® 90° @100°

® 110°

90° + %Ax = 140°
oo /Zx=100°




6.

o3 oA H 1= aABC o] Aol W] gz &9 dol=
2cm ©|th. AABC €] Yo7} 24cm? ¥ o], AABC 9] ZAo|=?

A

@ 12cm @ 16cm ® 20cm @24cm ® 28cm

% x2x (AABCE] E¢) = 24
mrebA AABC 9] E819] 4ol 24cm ©]tt.




oS AABCO)A AB = AC, CB = CD, /BCF = 114°d o}, /x 9]
EMEY

A

B

C
E/ 114\0\)\111

@1s°  @u°  O3°  @36° O

B ~

AABC oA

/ABC = /BCA =180°-114° = 66°
ACDB | A

/BCD = 180° - (2 x 66°) = 48°
w2kA zx = 66° — 48° = 18° o]t}




th& 2o A AB = AC ©]1L /DFC = 90° Y off, x ©] Ao]|E s}
o2},

>
> &g 3 cem

AABC |4 /ABC =a 2t 5} AB = AC 9|22 /ACB =4
ojtt.

w2bA] ABEF |4 /BEF = 90° —q ©] 1 upzb7FA] 2 ADCF ]
A /CDF = 90° —a ©|t}. &, /BEF = /CDF, /BEF = /AED
(FE2]Z}) o],

w2bA ,CDF = /AED ©]|E 2 AAED = o]% ,
AD = AE = x(cm), AB = x+3(cm) o]t} w2b AC = AB =
9—x(cm) |22 x+3=9-x, x=3(cm) °|t}.

rE
bl
N
N
ofl
£
Rl




